STA 312F2007 Solutions to Quiz 5

Var(X) =Var(¢ +0) =Var(&) +Var(o) = ¢ + 65

Var(Y;) =Var(né +¢;) = vaar(f) +Var(g;) = 712¢+‘//1
Var(Y,) =Var(y,& +¢&,) = yyvar(£) +Var($,) = 734+,
Cov(X,Y;) =Cov(& +6,1¢ +¢y) = rVar(§) = né
Cov(X,Y,;) =Cov(S +6,7,8 + ) =y, Var($) = 7,4
Cov(Yy,Y,) =Cov(y,& + 61,728 + &3) = myVar($) = 17,4

P+ 05 ne 729
z= b+ wy 1
722¢+ v,

2. 0={4.05,7,72 W1, V>}

3. Yes, the model is identified.

oy =¢+06; —-»)
01 = 1P —(2)
O13 = 72f —(3)
02 = 712¢+l//1 —(4)
O3 = 11729 —(5)
O33 :722¢+V/2 —(6)
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(2).7/2 O12
(3):p="2

72
@:n="%
(1):05 =011~ ¢

(4) 1y =0y —712¢
(6):, = 035~ 774

One solution is obtained therefore the model is identified.



